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Learning intentionox students

After studying this chapter, you should understand how an economy
works. You will use the circular flow diagram to understand the flows of
spending and income in an economy, and you will know more about how

the government, financial and overseas sectors play a part in our economy.

@\. Economic models

y - the special words and
for a particular subject
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Many people feel economics is a complicated subject. In order to understand
economics in action, we can use a range of eco_nomic'models.

An economic model is a diagram that helps us better understand the economic
world. In this chapter, we will introduce you to some simple economic models that
will explain to you how an economy works.

Using a circular flow diagram

Let’s use a circular flow diagram to look at how,an economy works. First, we need to
apply the economic terms introduced in Chapter 1 to Kiwiville and the Pihama family.

Like most other people, the Pihama family earn their money from working at jobs.
They sell their labour or productive work (this is also called human effort or human
resource] for wages, or income. Labour is one of a range of resources used by
producers in the production of goods and services.

Jo Pihama works as a builder in a construction company. Josie
works as a cleaner. As consumers, they can spend their income on
buying their groceries or other goods and services from producers.
This is called consumption spending.

This cycle can be shown in
an economic model we call the
circular flow diagram. In the
diagram, the arrows represent
the flow of money through
the goods and services and
resources in the economy.
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We can make the circular flow diagram easier to

CT |V ITq understand by focusing only on the money flqws.

Consumption

~ spending (C)

See if you can apply the circular flow
diagram on page 10 to Kiwiville. Refer

rd $
to the cartoon map of Kiwiville on the - l
inside back cover of this book, and then _ _
try to answer the questions below. ‘
1 Who are the consumers in Kiwiville? \ L

$

2 Who are the producers in Kiwiville? Income (Y)
3 Give an example of a resource.
4 Give an example of a good or service.
: From the first circular flow diagram, we can identify
BuPbpanmympe of vt consumption spending (C) and income (Y). What happens when
spending. { ; :
we don’'t spend all of our income?
6 Name one type of income, and give

an example that applies to Kiwiville. ) )
: . How do we use the financial sector?

The financial sector consists of a range of organisations

that deal with the management and transfer of money - for
example, banks, the stock market, and private sector finance
companies and brokers. Most people (that is, the general
public) use the financial sector in three primary ways:

* saving

e investing

e borrowing.
Let's develop the circular flow diagram to include the
financial sector.
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Consumption
spending (C)
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+_ Savings (S)
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Saving

Consumers may not end up spending all of their income, because they might choose to
save some of it. Saving (S] is income not spent. This income is saved so that it can be
used at some time in the future.

Consumers can save their income with the financial sector. For example, Nanny
deposits her savings in a bank account and, in return, receives interest payments.
These interest payments can be added to her income from the government so she can
spend more as a consumer, or the payments can be addedﬂ;o the money already in her
bank account so she can save even more. .

{
i

Borrowing

The banks use savers’ money to lend to other people, who are called borrowers. The
banks charge the borrowers interest on the monies they have borrowed.

Like many New Zealanders, Jo and Josie Pihama are borrowers, because they
needéd to borrow money to buy their house. They got a mortgage (loan) from the bank
and they must pay interest on this borrowed money every month. As well as paying
interest to the bank, Jo and Josie also pay back a small portion of their actual ln‘an.

How do banks work?

Banks channel money from savers to borrowers. They make
income by charging borrowers a higher rate of interest than
they pay to savers (investors).

For example, the Bank of New Zealand will pay Nanny
3.00 per cent interest on her money in her savings account.
Jo and Josie are paying 5.75 per cent on the money they have
borrowed (their mortgage). The bank makes 2.75 per cent each
month on the difference.

. How does the government pay for its spending?

Let's add another component, government, to our circular flow
diagram.
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/ Government',
spendilng (G)!
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The government is an important sector of
the economy. Government spending (G) is used
to provide many of our public services, such as
hospitals (health] and schools (education].

The government provides assistance, known
as government benefits, to particular groups in
society - for example, those who cannot provide for
themselves, or who are unemployed. The sickness
benefit, or superannuation for anyone over the
age of 65, are types of government benefit.

Economists call these payments transfers (Tr).
The money required for this government spending
comes mainly from taxation (T). Once we start paid
work, we should all pay income tax. Companies pay
company tax on their profits. All of us
pay goods and services tax (GST) on
all our spending.

Jo and Josie's employers deduct
the income tax from their pay before
they receive it. Their employers pay
this income tax to the government.
Whenever Jo and Josie buy goods and
services, they pay GST.. .

In return for paying their taxes, Joe
and Josie and their family get to use
services such as roads and schools.
When they retire, they should receive
superannuation, just like Nanny.

. How do imports and exports affect
our economy?

New Zealand has many trading links with the rest
of the world.

Let’s add the overseas sector to our circular
flow diagram.




2906060000 0606 G0 0edeo0ee 2800606

14

New Zealand depends on its ability to expoﬁ goods and services to markets
overseas in order to be able to import goods and services from overseas producers.

Jo’s employer needs to buy some cedar building
materials from Canada. When products are brought
in from overseas, these products are classed as
imports.

New Zealand also sells services such as
tourism and education to foreigners. In mone
terms, the funds coming into the country
from the sale of exported goods and services
overseas are called export receipts (X on

the circular flow diagram). These receipts
make it possible for us to pay for the goods
and services imported from overseas. These
payments are called import payments (M on
the circular flow diagram).
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. Reflection

‘At this point, you will understand that an economy works in a flow of spendlng and

g income between consumers and producers, and between the financial, government and
overseas sectors.

Before you read this chapter, did you feel differently about income tax than you do
now? Explain.

Before you read this chapter, did you consider yourself part of New Zealand's
economy? Do you feel differently now? In what ways do you think you participate in our
economy?-
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